Algebra 1a Final REVIEW
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alglaFinal f18§ REVIEW

Solve the equation. 7. |z-7|+2=8

1. =5h =50 a. z=13,z= -1
a. h=155 b. no solution
b. = -10 c. z=13,z=1
c. h=-250 d z=13
d h=45
8. 9]2y+5|=18
2 ko 4
- g ;
a. k=-24 a ry=5
b k= 2 b. no solution
3 37
c. k=24 C. V=753
d k=2 3 7
¢ y=3r= 7
3. 12= ht6
=7 9. The admission fee to an amusement park is $21. Tt
a. h =90 costs an additional d dollars to rent a locker to hold
b. h=-90 your belongings. The total cost for 5 people to enter
c. h=-42 the amusement park and each rent a locker is $135.
d. h=-126 How much does it cost for one person to rent a
locker?
4. 29=Tu—-17Tu—-1 a. $27
a. u=-3 b. §$6
b. u=23 c. %4
c. u=-2 d. $10
d u=4

10. Which equations are equivalent to the given literal
5. =70=2(-5n-75) equation?

a. n=-8 g o
o g 4+2(7x+6y) —9="Tx—8y+3-3y—6x
c. n=-6 -23y+8
d n=26 a  x=——z—
-13y+8
6. 15(2—Z)+SZ=37 b. X=T
a. z=-96 935 48
b. z=4 =1—3
c. z=203
d _ —13x+8
ST d y=—"%—
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Solve the inequality. Graph the solution. Find the domain and range of the function
represented by the graph.
8x—2x+32>24+33

a. x<6 y
14. sl
L 1
€< ® t Y 44
2 4 6 8 10
3_...
b. x>9
24
O > T
4 6 8 10 12 14 . .
T T T T T T T T T T
-5 4 3\ -2 -1 1 2 3 4 5
c. x<9 1 X

AN
[ ]
bb
e

o >
2 4 0 8 10 a. domain: 4 <x <2, range: 4<y<4
b. domain: -4 <x <4, range: 4<y <2
Solve the inequality. c. domain: 4 <x <4, range: 4<y<2
d. domain: 4<x <2, range: 4<y<4
6x—2>2x+4
a.  all real pumbers Graph the linear function.
b. no solution
c. x> 3
’ 2 54Y
15.
d x< 3
’ 2

Which of the inequalities are represented by the

graph? \.
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-12 -10 8 6 4 -2
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2 4 6 8 10 12

/

a. x+1>1 1
b. x>0 54
c. x>0

d -8<x-11 a. g(x):%x-kz
e. —10<x-10

b. g(x)=3x+2

-1

A=

c. glx)=-

d g) =—%x—1
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Describe the slope of the line. Then find the 18. 1
slope. T
16. A :
(—2 MO
+4 2 V)
=—t— —t——t
—@ 2@ —4 -2 (0’ _1) 2 4 x
(3,2) (042) T~
24 ~—
- ~
4I1 4 x
1 N
24
+ . 1
a. negative; —%
a4 3
b. negative; —3
a. negative; -3 L1
b. positive; 1 ¢. positive; >
c. zero; 0 d. positive; 3
d. negative; —1
4 Write an equation of the line with the given
17. I 4 __y slope and y-intercept.
4.3) 1 19. slope: -2
T y-intercept: 0
T a m=-2
l b. y=-2
T T r - c. x=0
®(—4,-2) -2+ d y=-2%x
-4+ Write an equation of the line that passes through
the given points.
a. positive; 1
b. negative; —1 20. (-4, 5), (0,-9)
c. undefined a. y=-4
d. zero; 0 7
b. y= X 9
5
C. yT—yx- 5
2 17
= ——x + —
d vy st 3



21.

22.

Algebra 1a Final REVIEW
Do NOT write on this test. Show all work on separate sheet for full credit.

Write an equation in point-slope form of the line
that passes through the given point and has the
given slope.

(1,8);m=3

a. y—-8=3(x-1)
b. y=3x-5

c. y+8=3(x+1)
d y=3x

Write an equation of the line in slope-intercept
form.

1 !
T T T T T T T T T

N

5 4 3 2 -l I 2 3 4 5 «x
T e
®
_Jo2
41
54
a. y=-2
b. y=2
c. y=x+2
d y=x-2

23.

24.

25.

a. y=—%x—1

b. y=—%x—l
2

c. y=—§x+1

d. y=—%x+1

Write an equation of the line that passes through
the given point and is parallel to the given line.

(-6, ~1);y=—2x+2

a. y=2x-13
b. y=2x+2

c. y=—-2x-13
d y=-2x+11

Write an equation of the line that passes through
the given point and is perpendicular to the given
line.

(-6,-5); y=3x+4

a. y=—%x—3
b. y=3x-7
c. y=—%x—7

d y=-3x+4



26.

27.

28.

29.

30.
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Tell whether the ordered pair is a solution of the
system of linear equations.

y=4x+12
y=-x+2
(-2.4)

a. No

b. Yes

—6x +3y=—6
Tx—=Ty=-7
(4.6)

a. Yes

b. No

Solve the system of linear equations. Check your
solution.

y=—x+29
y=x+3

a. (11,18)

b. (16, 13)

c. (13,16)

d. (12,15

8x — 8y =-8
x—y=7

a. (1,2)

b. (1,-7)

c. (2,3

d. (0,-7)
2x+2y =-22
x+y=-11

a. (2,-13)

b. (-3,-8)

c. no solution
d. infinitely many solutions

31.

32.

33.

—2x -2y =-2
x+y=1

a. (-2,3)

b. no solution

c. infinitely many solutions
d. (6,-5)

Graph the inequality in a coordinate plane.

<N

y

6--

4--

2--

%6 4 2 + 2 4 6 «x

-2+

4--

-6+
a. y=1
b. x>-1
c. y<-1
d x<-1

y

6__

4--

2__

6 -4 -2 4 6 x

2+

_4__

-6+
a. y>-1
b. x2>2
c. y<-1

d x>1
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34.
y
6-..
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T 7
—t—+—+—+—++—H
64 2
_2-L
AR
41
1
J 1
r6T
1
.I
a yz—%x
b. y<2x+1
c. y>3x-2
d >l -1
y 2x

Graph the system of linear inequalities.

35.

S 432 -l

a. y=>3
y<-2x+4
b. y<3
y<-2x+4
c. y=23
y<-2x+4
d y=3
y>-2x+4

i

-3+

-S4




36.

37.

38.

39.

40.

41.

Match the inequality below with its graph.
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